AE[QIIA AT S7FOITIA

=5 4Y/HIE o[0ix|

Foi Qx| g =g [SEX=R - ey

z“ /z /“

RAL 7021 RAL 2004 RAL 1021 RAL 3020

S34

E2fg 27 gt 3|4

N

RAL 6032 RAL 5017 RAL 7035

€2

i '
for
Iy
3

© HEINRICH KIPP WERK GmbH & Co. KG

E8X,EID

ks

HE &Y.

QA ZHME HEHOZ Qe & F {IXI7F Hels WE XISt
I A ELct.

&= HHE 180° E2/H &= Elo
EI- J\ OI7.||EI|__||:|.

g H7' &2 &3 Hi7t o] fIx[of ™ E|o{ & Elo| Hel IXIZ &
o2 HEHE RXISHES &fLICH.

&
L)
Jdo
i

n
fe
o
Jdo
Rall
i
rII
ox

ok i

THE!:

EH2 Hl 1.4308.

LMP &cle & &Z El1.4305.
orad A2l 1.4310.

PA @7t4AM Z2 Hh 2.

#EM O]
LIAt &2lE, 3d Az dl A2 &3 HE
2 =l odot & XtedX ntR 2.
|:|.oko|- AH77|-_Q_| Q-I::L |:||- |=|
- 22 3|A RAL 7021.
A RAL 2004.
E“L'.* RAL 1021.
i Z+ M RAL 3020.
=M RAL 6032.
I} 2HA RAL 5017.
F 3|A4 RAL 7035.

ok

zzzﬂﬂ
WMWH

&

rO
ro fob | fob 0 Of

E:

= HHE 180° S2|T &3 Elo| 2] /IXIZ Sot 3.

ZCtAE o 3 HE HE MEE £ AGLioh
HEZX YXI2 A8EUCH

°-'.'A1IA1EI:
Bjo|& 2 & K0638.
EZXIME 2A K1290, K1839, K1840.

www.kipp.com - info@kipp.com 1/5



K1680_D

()
2H|QIEA AR K2 Q1A SRIX, EIRI D
=M
©
L1
\ |
1 o i
Swi
i . —]
3 L
BER
w :
= |
[ 1T p-9.02 1
-0.04
| D1
] |
S = J
o
Z= 0
FEHS Hd THE MY D DI D2 L LT L3 B BT H Fx30° SWi1 swW2 A% Ehd
Bt =
F19% N F22. N
K1680.1070410 D 43| M RAL 7021 4  M10 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.1070510 D 3| M RAL 7021 5 M10 10 39,5 26,3 15 10,9 49 6 1,3 10 17 8 14
K1680.1070610 D Z3|M RAL 7021 6 M10 10 39,5 26315109496 18 10 17 8 14
K1680.10704101 D 3| M RAL 7021 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.10705101 D A3|M RAL 7021 5 M10x1 10 39,5 26,3 15 10,9 4,9 6 1,3 10 17 8 14
K1680.10706101 D Z3|M RAL 7021 6 M10x1 10 39,5 26,31510949 6 18 10 17 8 14
K1680.1070512 D 3| M RAL 7021 5 M12 12484 31119129578 13 12 19 8 15
K1680.1070612 D 3| M RAL 7021 6 M12 12 48,4 31,1 19129 57 8 1,8 12 19 8 15
K1680.1070812 D 3| M RAL 7021 8 M12 12484 31119129578 23 12 19 8 15
K1680.10705121 D 3| M RAL 7021 5 M12x1,5 12 484 31,11912957 8 1,3 12 19 8 15
K1680.10706121 D ZA3|M RAL 7021 6 M12x1,5 12 48,4 31,1 19 129 5,7 8 1,8 12 19 8 15
K1680.10708121 D ZA3|M RAL 7021 8 M12x1,5 12 484 31,11912957 8 23 12 19 8 15
K1680.1070616 D A3|M RAL 7021 6 M16 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.1070816 D A3|M RAL 7021 8 M16 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.1071016 D 3| M RAL 7021 10 M16 16 62,3 41,526 166 7 10 28 16 24 15 35
K1680.10706161 D 3| M RAL 7021 6 M16x1,5 16 62,3 41,526 16,6 7 10 1,8 16 24 15 35
K1680.10708161 D ZAE|M RAL 7021 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.10710161 D ZA3|M RAL 7021 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.1070820 D A3|M RAL 7021 8 M20 20 72,3 51,3 30 20,5 8512 23 20 30 20 60
K1680.1071020 D ZA3|M RAL 7021 10 M20 20 72,3 51,3302058512 28 20 30 20 60
K1680.1071220 D 3| M RAL 7021 12 M20 20 72,3 51,3 302058512 3 20 30 20 60
K1680.10708201 D A3|M RAL 7021 8 M20x1,5 20 72,3 51,3 30 20,5 8512 2,3 20 30 20 60
K1680.10710201 D ZA3|M RAL 7021 10 M20x1,5 20 72,3 51,3 30 20,5 8512 28 20 30 20 60
K1680.10712201 D 3| M RAL 7021 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 30 20 60
K1680.10704102 D Foi 2EX| RAL2004 4 M10 10 39,5 26,3 15 10,9 49 6 1 10 17 8 14
K1680.10705102 D F0{ 2#X|RAL2004 5 M10 10 39,5 2631510949 6 1,3 10 17 8 14
K1680.10706102 D F0{ 2B#X|RAL2004 6 M10 10 39,5 2631510949 6 18 10 17 8 14
K1680.107041012 D Fo{ QBIX| RAL2004 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.107051012 D F0{ 2HX|RAL2004 5 M10x1 10 39,5 26,31510,949 6 1,3 10 17 8 14
K1680.107061012 D F0{ 2B#X|RAL2004 6 M10x1 10 39,5 26,31510,949 6 18 10 17 8 14
K1680.10705122 D F0{ 2B#X|RAL2004 5 M12 12 484 3111912957 8 13 12 19 8 15
K1680.10706122 D F0{ 2HX|RAL2004 6 M12 12 484 31,11912957 8 18 12 19 8 15
K1680.10708122 D F0{ 2B#X|RAL2004 8 M12 12 484 31,11912957 8 23 12 19 8 15
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/5



°
ZHQl A A8 F23 Q1A SR, EIR)ID
EZS 29
FEHS Et e THE MY D D1 D2 L LT L3 B BT H Fx30° SW1 SW2 AI": Ehd
E}A _E_E_
F1 95 N F2 9 N
K1680.107051212 D  #O{2#X[RAL2004 5 M12x1,5 12 484 3111912957 8 13 12 19 8 15
K1680.107061212 D  #0{2%X|RAL2004 6 M12x1,5 12 484 31,11912957 8 18 12 19 8 15
K1680.107081212 D  #0{ 2#X|RAL2004 8 M12x1,5 12 484 31,11912957 8 23 12 19 8 15
K1680.10706162 D  FOo{2%XIRAL2004 6 M16 16 623 41526166 7 10 18 16 24 15 35
K1680.10708162 D  #O0{2%X|RAL2004 8 M16 16 623 41526166 7 10 23 16 24 15 35
K1680.10710162 D  F#o{2%X|RAL2004 10 M16 16 623 41526166 7 10 28 16 24 15 35
K1680.107061612 D  #0{ 2% X|RAL2004 6 M16x1,5 16 623 41,526 166 7 10 18 16 24 15 35
K1680.107081612 D  #0{ 2% X|RAL2004 8 M16x1,5 16 623 41,526 166 7 10 23 16 24 15 35
K1680.107101612 D  #0{ 2#X|RAL2004 10 M16x1,5 16 62,3 41,526 166 7 10 28 16 24 15 35
K1680.10708202 D  F#0{2%X|RAL2004 8 M20 20723513302058512 23 20 30 20 60
K1680.10710202 D  F#0{2%X|RAL2004 10 M20 20723513302058512 28 20 30 20 60
K1680.10712202 D  Fo{2%XIRAL2004 12 M20 20723 513302058512 3 20 30 20 60
K1680.107082012 D  #0{ 2% X|RAL2004 8 M20x1,5 20 723 51,3 302058512 23 20 30 20 60
K1680.107102012 D  #0{ 2#X|RAL2004 10 M20x1,5 20 72,3 51,3 302058512 28 20 30 20 60
K1680.107122012 D  #0{ 2#X|RAL2004 12 M20x1,5 20 72,3 51,330 2058512 3 20 30 20 60
K1680.107041016 D g2 -2 RAL1021 4 M10 10 3952631510949 6 1 10 17 8 14
K1680.107051016 D g2 ¥ RAL1021 5 M10 1039526315109496 13 10 17 8 14
K1680.107061016 D e =@ RAL1021 6 M10 1039526315109496 1,8 10 17 8 14
K1680.1070410116 D g2 -2 RAL1021 4 M10x1 10 39,5 263 1510949 6 1 10 17 8 14
K1680.1070510116 D g2 =@ RAL1021 5 M10x1 10395 26315109496 1,3 10 17 8 14
K1680.1070610116 D g2 =@ RAL1021 6 M10x1 10395 26315109496 18 10 17 8 14
K1680.107051216 D g2 =@ RAL1021 5 M12 12484 31,119129578 1,3 12 19 8 15
K1680.107061216 D ge =@ RAL1021 6 M12 12484 31,119129578 18 12 19 8 15
K1680.107081216 D e =@ RAL1021 8  M12 12484 31,119129578 23 12 19 8 15
K1680.1070512116 D g2 =@ RAL1021 5 M12x1,5 12484 31,11912957 8 1,3 12 19 8 15
K1680.1070612116 D ge =@ RAL1021 6 M12x1,5 12484 31119129578 1,8 12 19 8 15
K1680.1070812116 D g2 =@ RAL1021 8 M12x1,5 12484 31,11912957 8 23 12 19 8 15
K1680.107061616 D g2 =@ RAL1021 6 M16 16623 41526166 7 10 1,8 16 24 15 35
K1680.107081616 D ge =@ RAL1021 8 M16 16623 41526166 7 10 23 16 24 15 35
K1680.107101616 D g2 =@ RAL1021 10 M16 16 62,3 41526166 7 10 28 16 24 15 35
K1680.1070616116 D g2 =@ RAL1021 6 M16x1,5 16 62,3 41526166 7 10 1,8 16 24 15 35
K1680.1070816116 D ge =@ RAL1021 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.1071016116 D g2 =@ RAL1021 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.107082016 D g2 - RAL1021 8 M2 20723513302058512 23 20 30 20 60
K1680.107102016 D g2 =@ RAL1021 10 M20 20723 51,3302058512 28 20 30 20 60
K1680.107122016 D g2 =@ RAL1021 12 M20 20 72,3 51,3302058512 3 20 30 20 60
K1680.1070820116 D g2 2 RAL1021 8 M20x1,5 20 72,3 51,3302058512 23 20 30 20 60
K1680.1071020116 D g2 =@ RAL1021 10 M20x1,5 20 72,3 51,330 20568512 28 20 30 20 60
K1680.1071220116 D g2 =@ RAL1021 12 M20x1,5 20 72,3 51,330 205 8512 3 20 30 20 60
K1680.107041084 D  AIZSWZRAL3020 4 M10 10 3952631510949 6 1 10 17 8 14
K1680.107051084 D  AIZSWZRAL3020 5 M10 10 395 2631510949 6 13 10 17 8 14
K1680.107061084 D  AIZSWZRAL3020 6 M10 10 395 2631510949 6 18 10 17 8 14
K1680.1070410184 D  AZSWZRAL3020 4 M10x1 10 39,5 263 1510949 6 1 10 17 8 14
K1680.1070510184 D  AZSWZ RAL3020 5 M10x1 10395 26315109496 1,3 10 17 8 14
K1680.1070610184 D  AZSWZ RAL3020 6 M10x1 10395 26315109496 1,8 10 17 8 14
K1680.107051284 D  AIZSWZRAL3020 5 M12 12484 31119129578 13 12 19 8 15
K1680.107061284 D  AIZSWZRAL3020 6 M12 12484 31119129578 18 12 19 8 15
K1680.107081284 D  AIZSWZRAL3020 8 M12 12484 3111912957 8 23 12 19 8 15
K1680.1070512184 D  AlZSWZRAL3020 5 M12x1,5 12484 31,11912957 8 1,3 12 19 8 15
K1680.1070612184 D  AZSWZ RAL3020 6 M12x1,5 12484 31119129578 1,8 12 19 8 15
K1680.1070812184 D  AZSWZ RAL3020 8 M12x1,5 12484 31,11912957 8 23 12 19 8 15
K1680.107061684 D AISSWZRAL3020 6 M16 16 623 41526166 7 10 18 16 24 15 35
K1680.107081684 D  AIZSWZRAL3020 8 M16 16 623 41,526 166 7 10 23 16 24 15 35
K1680.107101684 D  AIZSWZ RAL3020 10 M16 16 623 41,526 166 7 10 28 16 24 15 35
K1680.1070616184 D  AlZSWZ RAL3020 6 M16x1,5 16 62,3 41526166 7 10 1,8 16 24 15 35
K1680.1070816184 D  AZSWZ RAL3020 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 24 15 35
K1680.1071016184 D  AlZSWZ RAL3020 10 M16x1,5 16 62,3 41,526 16,6 7 10 28 16 24 15 35
K1680.107082084 D  AIZSWZRAL3020 8 M20 20723513302058512 23 20 30 20 60
K1680.107102084 D  AIZSWZ RAL3020 10 M20 20723 513302058512 28 20 30 20 60
K1680.107122084 D  AIZSWZ RAL3020 12 M20 20723 513302058512 3 20 30 20 60
K1680.1070820184 D  AZSWZ RAL3020 8 M20x1,5 20 72,3 51,33020,58512 23 20 30 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/5



AB[QIZA Al K2 OIHIA ZR, EL D

Z= 29

FEHS Et e THE MY D D1 D2 L LT L3 B BT H Fx30° SW1 sSW2 A% Ehd

Bt =2

F12. N F2 2. N

K1680.1071020184 D A5 WZFRAL3020 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 30 20 60
K1680.1071220184 D AES Wz RAL 3020 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 30 20 60
K1680.107041086 D Alad sMRAL6032 4  M10 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.107051086 D Alagd sMRAL6032 5 M10 10 39,5 2631510949 6 1,3 10 17 8 14
K1680.107061086 D Alad sMRAL6032 6 M10 10 39,5 2631510949 6 1,8 10 17 8 14
K1680.1070410186 D Alad sMRAL6032 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.1070510186 D Alad sMRAL6032 5 M10x1 10 39,5 26,3 1510949 6 1,3 10 17 8 14
K1680.1070610186 D Alad s RAL6032 6 M10x1 10 39,5 26,3 1510949 6 1,8 10 17 8 14
K1680.107051286 D Alag sMRAL6032 5 M12 12 484 31,11912957 8 1,3 12 19 8 15
K1680.107061286 D Alagd sMRAL6032 6  M12 12 484 3111912957 8 1.8 12 19 8 15
K1680.107081286 D Alad sMRAL6032 8 M12 12 484 3111912957 8 23 12 19 8 15
K1680.1070512186 D Alad sMRAL6032 5 M12x1,5 12 48,4 31,11912957 8 1,3 12 19 8 15
K1680.1070612186 D Alad M RAL6032 6 M12x1,5 12 48,4 31,1 1912957 8 1,8 12 19 8 15
K1680.1070812186 D Aad sMRAL6032 8 M12x1,5 12 48,4 31,1 1912957 8 23 12 19 8 15
K1680.107061686 D Alagd sMRAL6032 6 M16 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.107081686 D Alagd sMRAL6032 8 M16 16 62,3 41,526 166 7 10 23 16 24 15 35
K1680.107101686 D Alad s RAL6032 10 M16 16 62,3 41,526 166 7 10 28 16 24 15 35
K1680.1070616186 D Alad sMRAL6032 6 M16x1,5 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.1070816186 D Alad s RAL6032 8 M16x1,5 16 62,3 41,526 166 7 10 23 16 24 15 35
K1680.1071016186 D Al s RAL6032 10 M16x1,5 16 62,3 41,526 16,6 7 10 2,8 16 24 15 35
K1680.107082086 D Alad sMRAL6032 8  M20 20 72,3 51,330 20,5 8512 23 20 30 20 60
K1680.107102086 D Alad sMRAL6032 10 M20 20 72,3 51,330 2058512 28 20 30 20 60
K1680.107122086 D Alad sMRAL6032 12 M20 20 72,3 51,3302058512 3 20 30 20 60
K1680.1070820186 D Alad sMRAL6032 8 M20x1,5 20 72,3 51,3 30 20,5 8512 2,3 20 30 20 60
K1680.1071020186 D Alad =M RAL 6032 10 M20x1,5 20 72,3 51,3 30 20,5 8512 28 20 30 20 60
K1680.1071220186 D Alad sS4 RAL 6032 12 M20x1,5 20 72,3 51,3 302058512 3 20 30 20 60
K1680.107041087 D MES I RAL5017 4 M10 10 39,5 26,3 15 10,9 49 6 1 10 17 8 14
K1680.107051087 D MES DR RAL5017 5  M10 10 39,5 2631510949 6 1,3 10 17 8 14
K1680.107061087 D MES I RAL5017 6 M10 10 39,5 26,31510,949 6 1,8 10 17 8 14
K1680.1070410187 D AMES I RAL5017 4 M10x1 10 39,5 26,3 15 10,9 49 6 1 10 17 8 14
K1680.1070510187 D AMES D2 RAL5017 5 M10x1 10 39,5 26,3 1510949 6 1,3 10 17 8 14
K1680.1070610187 D MES I RAL5017 6  M10x1 10 39,5 26,31510,949 6 1,8 10 17 8 14
K1680.107051287 D MES I RAL5017 5 M12 12 484 3111912957 8 1,3 12 19 8 15
K1680.107061287 D MES D RAL5017 6 M12 12 484 3111912957 8 1,8 12 19 8 15
K1680.107081287 D MES I RAL5017 8 M12 12 48,4 31,119 12957 8 2,3 12 19 8 15
K1680.1070512187 D AMES I RAL5017 5 M12x1,5 12 484 31,119 12957 8 1,3 12 19 8 15
K1680.1070612187 D MES D2 RAL5017 6 M12x1,5 12 48,4 31,1 1912957 8 1,8 12 19 8 15
K1680.1070812187 D MES I RAL5017 8 M12x1,5 12 48,4 31,119 12957 8 2,3 12 19 8 15
K1680.107061687 D MES I RAL50177 6 M16 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.107081687 D MES D RAL5017 8 M16 16 62,3 41,526 166 7 10 23 16 24 15 35
K1680.107101687 D MES I RAL5017 10 M16 16 62,3 41,526 16,6 7 10 2,8 16 24 15 35
K1680.1070616187 D AMES I RAL5017 6 M16x1,5 16 62,3 41,526 166 7 10 1,8 16 24 15 35
K1680.1070816187 D AMES o2 RAL5017 8 M16x1,5 16 62,3 41,526 166 7 10 23 16 24 15 35
K1680.1071016187 D AES ot RAL5017 10 M16x1,5 16 62,3 41,526 166 7 10 2,8 16 24 15 35
K1680.107082087 D AMES I RAL5017 8  M20 20 72,3 51,33020,58512 2,3 20 30 20 60
K1680.107102087 D AMES D2 RAL5017 10 M20 20 72,3 51,330 2058512 28 20 30 20 60
K1680.107122087 D AMES I RAL5017 12 M20 20 72,3 51,3302058512 3 20 30 20 60
K1680.1070820187 D AES I RAL5017 8 M20x1,5 20 72,3 51,3 302058512 2,3 20 30 20 60
K1680.1071020187 D AMES o RAL 5017 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 30 20 60
K1680.1071220187 D AES o RAL 5017 12 M20x1,5 20 72,3 51,3 302058512 3 20 30 20 60
K1680.107041088 D Q4% 3| M RAL 7035 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.107051088 D Q15t 2| RAL 7035 5 M10 10 3952631510949 6 1,3 10 17 8 14
K1680.107061088 D 248t 3| M RAL 7035 6 M10 1039526315109496 18 10 17 8 14
K1680.1070410188 D Q48 3| M RAL 7035 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 17 8 14
K1680.1070510188 D Q15t 2| RAL 7035 5 M10x1 10 39,5 2631510949 6 1,3 10 17 8 14
K1680.1070610188 D Q48 3| M RAL 7035 6 M10x1 10 395263 15109496 18 10 17 8 14
K1680.107051288 D Q48 3| M RAL 7035 5 M12 12484 31119129578 13 12 19 8 15
K1680.107061288 D Q48 3| M RAL 7035 6 M12 12484 31119129578 18 12 19 8 15
K1680.107081288 D Q48 3| M RAL 7035 8 M12 12484 3111912957 8 23 12 19 8 15
K1680.1070512188 D 948t 3| M RAL 7035 5 M12x1,5 12 484 31,11912957 8 13 12 19 8 15
K1680.1070612188 D Q48 3| M RAL 7035 6 M12x1,5 12 484 31,11912957 8 18 12 19 8 15

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/5



°
*E1I°liil L8 2T oHA SEIA ERID
EZS 29
FEHS Et e THE MY D D1 D2 L LT L3 B BT H Fx30° SW1 sSW2 A% Ehd
Bt =2
F1 9 N F29. N
K1680.1070812188 D A8t S[MRAL7035 8 M12x15 12484 31119129578 23 12 19 8 15
K1680.107061688 D Q% Z[MRAL7035 6 M16 16 623 41526166 7 10 18 16 24 15 35
K1680.107081688 D A8t S|/MRAL7035 8 M16 16 623 41526166 7 10 23 16 24 15 35
K1680.107101688 D A8t 3|[MRAL7035 10 M16 16 62,3 41526166 7 10 28 16 24 15 35
K1680.1070616188 D Qd8t 3| RAL7035 6 M16x15 16 62,3 41526166 7 10 18 16 24 15 35
K1680.1070816188 D A8t 3|[MRAL7035 8 M16x1,5 16 62,3 41526166 7 10 23 16 24 15 35
K1680.1071016188 D A8t /M RAL7035 10 M16x1,5 16 62,3 41526166 7 10 28 16 24 15 35
K1680.107082088 D d8t 3|[MRAL7035 8 M20 20 72,3 51,3302058512 23 20 30 20 60
K1680.107102088 D A8t 3|[MRAL7035 10 M20 20 72,3 51,3302058512 28 20 30 20 60
K1680.107122088 D A8t S/MRAL7035 12 M20 20 72,3 51,3302058512 3 20 30 20 60
K1680.1070820188 D 48t 3| RAL7035 8 M20x1,5 20 72,3 51,3302058512 23 20 30 20 60
K1680.1071020188 D A8t 3| RAL7035 10 M20x1,56 20 72,3 51,3302058512 28 20 30 20 60
K1680.1071220188 D 48t 3|M RAL 7035 12 M20x1,5 20 72,3 51,3 302058512 3 20 30 20 60

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

5/5



